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数学 正の数、負の数

１ 次の計算をしなさい。

小数の乗法

①　（－5.4）×（＋3）×（－7）

③　（－8.1）×（＋2）×（＋6.4）

②　（－9.2）×（－6.3）×（－2）

④　（－5.9）×（－2.3）×（＋3）

２ 次の計算をしなさい。

①　（＋8）×（－7.3）×（＋3.1）×（－2）

③　（－2.4）×（＋8）×（－7）×（－4.2）

②　（－2.5）×（－5.4）×（－6）×（－3）

④　（＋6）×（＋2）×（－7.5）×（＋5.3）

３ 次の計算をしなさい。

①　（＋2.2）×（－4）×（＋3）×（－1.1）×（－5）

②　（－3）×（＋5）×（－4.3）×（－6）×（－2.5）
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数学 正の数、負の数

１ 次の計算をしなさい。

小数の乗法

①　（－5.4）×（＋3）×（－7）
　＝+（5.4×3×7）
　＝+113.4

③　（－8.1）×（＋2）×（＋6.4）
　＝－（8.1×2×6.4）
　＝－103.68

②　（－9.2）×（－6.3）×（－2）
　＝－（9.2×6.3×2）
　＝－115.92

④　（－5.9）×（－2.3）×（＋3）
　＝＋（5.9×2.3×3）
　＝＋40.71

２ 次の計算をしなさい。

①　（＋8）×（－7.3）×（＋3.1）×（－2）
　＝+（8×7.3×3.1×2）
　＝+362.08

③　（－2.4）×（＋8）×（－7）×（－4.2）
　＝－（2.4×8×7×4.2）
　＝－564.48

②　（－2.5）×（－5.4）×（－6）×（－3）
　＝＋（2.5×5.4×6×3）
　＝＋243

④　（＋6）×（＋2）×（－7.5）×（＋5.3）
　＝－（6×2×7.5×5.3）
　＝－477

３ 次の計算をしなさい。

①　（＋2.2）×（－4）×（＋3）×（－1.1）×（－5）
　＝－（2.2×4×3×1.1×5）
　＝－145.2

②　（－3）×（＋5）×（－4.3）×（－6）×（－2.5）
　＝+（3×5×4.3×6×2.5）
　＝+967.5


